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Question Paper Specific Instructions
Please read each of the following instructions carefully before attempting questions :

There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5 are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Assume suitable data, if considered necessary, and indicate the same clearly.

Normal probability distribution table is attached for necessary reference.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question

shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer Booklet must be clearly struck off. '
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Q1.

(a)

(b)

@S A
SECTION A

TR hl T Frames Fem 3w i@y g 3R @ @ R g9y
feufa & o foaor & %y @ ¥ | T 85% SufaEl, St st s w
T oo 33 1 e wt €, 39 iR Jfe B Hl | N e e e
%1 TTetq foatr o o1 T 8wt ] ST 3W @ Al IR 8 o G
T 5% 8 | Ig AW @ T ® fR fReh Ru gw www # daa 59
Hafar g Tt 3 1 Tera frawer 3 < B Wl § )
AT {6 € off &t ot & ik § I8 S IR v E R | F Gwe R
o a7 w ommayE IR 7 R (Tf T ot Huf avaa & oot o @ e
foraor 23 1 v el @ R) 2
A regulatory body of the government has observed that a particular
accounting error tends to be associated with an attempt to misstate
financial position. Approximately 85% companies attempting to misstate
their earnings will commit this accounting error. For a company not
trying to misstate its earnings, the likelihood of making this error is’
approximately 5%. It has been estimated that the percentage of
companies attempting to misstate earnings at any given time is only 5%.
Suppose that in an audit of ABC company, the accounting error is
discovered. What is the probability that it is not an inadvertent mistake
(i,e. ABC company. has actually been attempting to misstate its
eamings) 4
TF HEMTR H € 9 R H AT fshg e € 22,00,000 R | SHEE
A free T 2,00,000 ® | 39 TR % 81 ¢ T T A Tkt w1 Agfeew
T form R
(i) ¥ 9@ A w0 G § 6 R % we e ge T 25,00,000 @
G B ?
(i) TR % 10% T =, R Hoa =Ean B, w1 rfiesan fossa qe3 F=0
??
The mean selling price of new affordable homes in a metropolitan city is

¥ 22,00,000. The population standard deviation is T 2,00,000. A random
sample of 81 new affordable home sales from this city was selected.

(i) What is the probability that the sample mean selling price was
more than ¥ 25,00,000 ?

(ii) What is the maximum selling price of 10% of affordable home
sales in the city whose prices are the lowest ?

URC-B-MGMT 2

10




TABLE
Cumulative Standardized Normal Distribution

arferent
gt AehYRa | e

A(z) is the integral of the standardized normal
distribution from — = to z (in other words, the
area under the curve to the left of z). It gives the
probability of a normal random variable not
being more than z standard deviations above its
mean. Values of z of particular importance:

x M J
1.645 9500  Lower limit of right 5% tail
1.960 0.9?56 Lowes limit of right 2.5% tail
2326 0990 Lower limitofright 1% tail
2576 09950  Lower limit of right 0.5% tail
3.090 09990 Lower limit of right 0.1% tail
3291 0.9995 Lower limit of right O, ?_i!

z 0.00 0.01 0.02 0.03 0.04 0.08 0.08 0.07 0.08 0.09

00 05000 05040 05030 05120 0.5160 05199 05239 05219 03519 05389
01 05398 05438 05478 05517 05557 0359  0.5636 05678 035714 05753
02 05793 05832 05871 05910 0594 0.5987 0.6026 06064 06103 06141
03 06179 06217 06255 06293 06331 06368 06406 06443 0.6480 06517
04 06554 06591 06628 06664 06700 06736 06772 0. 6808 0.6844 06879
05 06915 06950 0698 07019 07054 07088 07123 07157 0. 7190  0.7224
06 07257 07291 07324 07357 07389 07422 07454 0748 07517 0.7549
07 07580 07611 07642 07673 07704 07734 07764 07794 0.7823 07852
08 07881 07910 07939 07967 07995 08023 08051 03078 08106 08133
09 08159 0818 08212 08238 08264 08289 03315 08340 0. 8365 03389
10 08413 08438 08461 08435 08308 0.8531 0.85%4 03577 OB 0.8621
11 08643 08665 08686 08708 08729 08749 03770 08790 08810 03830
12 08849 08869 08888 0897 08925 08944 (8962 03980 0.8997 0501
13 09032 09049 09066 09082 09099 09115 09131 09147 05162 03177
14 09192 09207 09222 09236 09251 09265 09279 09292 09306 0.9319
1S 09332 09345 09357 09370 09382 09394 09406 09418 0. 9420 09441
16 09452 09463 09474 09484 09495 09505 09515 09525 09535 09545
17 009554 09564 09573 09582 0.9591 09599 00608 09616 09625 09633
18 09641 09649 09656 09664 05671 09678 09686 0. 9693 09699 05706
19 09713 09719 09726 09732 09738 09744 09750 09756 09761 05787
20 09772 09778 09783 09788 09793 09798 09803 09508 09812 Q9817
21 09821 098526 09830 09834 09838 09842 09846 09850 09854 OS8S7
22 09861 09864 09868 09871 09875 09878 09881  0.98%4 09887 09890
23 09893 09896 09898 09901 09904 09906 09909 09911 09913 09916
34 09918 09920 09922 09925 09927 09929 09931 0993 09934 05936
25 09938 09940 09941 09943 09945 09946 0.9M8 0.9949 09951 09952
26 09953 09955 09956 09957 09959 09960 0.9561 09961 089963 09964
27 09965 09966 09967 09968 0999 05970 0. 9975 0997F 0973 099N
58 09974 09975 09976 09977 09977 09978 0997% 099 09980 09981
29 09981 09982 09982 09983 09984 09984 09985 09985 09986 0.9986
30 09987 09987 09987 09988 0.9983 09989 09989 0. 9989 09990 099%
31 09990 09991 09991 09991 09992 09992 09992 0999 09993 09993
32 09993 09993 09994 09994 09994 09994 09994  0.9995 09995 09995
33 09995 09995 09995 09996 09996 09996 09996 0.9996 09996 09997
34 09997 09997 09997 09997 09997 09997 09997 09997 09997 09998
35 09998 09998 09998 09998 0998 09998 09998 09998 09998 09993
36 09998 05998 09999

URC-B-MGMT




(© mﬂamﬁmg@ﬁww%?mm@igﬁﬁw-wﬁ ? T
ATHAT I AT |
What is the main purpose of an expert system ? What are its advantages
and disadvantages ? Explain its architecture. 10

) ﬁﬁg-maéwﬁmﬁ%m%mﬁﬁmwﬁﬁ%ﬁw-w
I W@ § ?

What have been the contributions of expert systems with respect to
management of COVID-19 pandemic ? 10

(€) T Wad-fmfur afteiern it wweramoft fiefifea &

i R T

1-2 2 3-17 5

1-3 2 4-6 3

1-4 1 5-8 1

2-5 4 6-9 5

3-6 8 7-8 4
| 8-9 3

I @ (Feah) Wi wa e i

(i)  shife ay (TRl mor) wd soeht safy
@) e Tl & foe amn <w (Few wie)

Gii) afe nfefafy 7 — 8 9T 6 HIE I FQMT WAl ], dl T sHifdH g
(%&mm)mm?aﬁﬁ,aﬁwaﬁaaw(%ﬁmm)
TR ?
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A building project has the following time schedule :

Activity G rlr;l:,r:lihs) Activity (in Eiihs)
1-2 2 3-17 .
1-3 9 4-6 3
1-4 1 o< '
2_5 4 S0 ?
3_6 8 748 4

8-9 3

Draw a suitable network and calculate :

Y
(i1)

(iii)

Q2. (a @)

(ii)

(iii)

(iv)

@)

URC-B-MGMT

Critical path and its duration
Total float. for each activity

If the duration of activity 7 — 8 is increased to 6 months, will the
critical path change ? If yes, what is the new critical path ?

“Fr T TR T Ul WHifae T 1 fulaa @ 17 e il |
U T AT & [0 TH 999 S 3G T SRl gEHIEg

- T |

Trams war@E T grnte (fifsfeea) wwea & @w 9 a1y« '
HIfT | T A, T @ TS I IYYHAT BT Th ISR GNT |

Y% 1 TH-UH 3G od U, W A, Al W @ i
Tra/ME S R hifse | e et fafamioft s & w8 erfusram
Tifta (o) $& T geha & 2 T T |

“Gea IR Td eu favoivur AFE <EaH wE H ST A
firehT 31T A § |7 faer @ ausmse |

“Plant location is the most important strategic level

decision-making.” Explain. List down important factors to be
considered for locating a new steel plant.




(ii) Explain the advantages and disadvantages of preventive and
predictive maintenance. Give one example of suitability of each of
these in industry. 5

(iii) Define scrap, surplus and obsolete items, giving one example of
each. How can you maximise return from these in a

manufacturing unit ? 5
(iv) “Value Engineering and Value Analysis play very important roles
in cost minimisation.” Elaborate. 5
(b) 3EHR IR 3IMEA § FAT AW 8 ? FA1 A9 W § fop gfen w # T
39K | Ggfs g i B 2

What is the difference between e-government and e-governance ?
Do you think, across the world, countries have achieved satisfaction in
e-government ? 10+5=15

(c) TUh TSY SH @Weed faumt 3 SRAErrE gdaardt qgm i SHeit & fore
T 40,00,000 fosmm % o srefea fpr € | Q@ wopR & TR Swm fvu
SmEt ;- e SR FHERE | gk e e W @ne 20,000 3R ugE
3000 €N dh JIUM RMT TN R | YAS WHER-GH | fagmew @
T 50,000 3R 9g= 7000 ANN o FINH A T B | I @y fawm
foem aAfiEm it A9 I9 ', Q@ S | a ugea R Hifm
Hal, g 3 @ 3 oy forn R 76 su-8-e9 10 s, sQ@% TR W%,
3T fop SR | g &, WAt fammoet F s $n-8-n gerER-a fasmeEt
H TEAT F SR & |

Y% YHR & Frae fammot @1 v fRn e 2 9w fRaR @l 9 wde
9T ? gdd (3Fa9) quyE R S weft sneavEmarenl w aed e
TRAEGEFC R |

A State Public Health Department has allocated ¥ 40,00,000 for
advertising information on Cg¢ronavirus pandemic. Two types of
advertisements will be used : Radio and Newspaper. Each radio
advertisement costs T 20,000 and reaches an estimated 3000 people.
Each newspaper advertisement costs ¥ 50,000 and reaches an estimated
7000 people. In planning the advertising campaign, the Public Health
- Department would like to reach as many people as possible, but they
have decided that at least 10 advertisements of each type must be used.
Also, the number of radio advertisements must be at least as many as
the number of newspaper advertisements.

How many advertisements of each type should be used ? How many
people will this reach ? Find the optimal solution that best satisfies all
requirements. , 15

URC-B-MGMT 6




Q3. (a mammﬁwmmﬁ%%aﬁw%wﬁﬁww
e (.o deh.) & forcha weman & @hd @ | &Y. ord Al & st
it TarrTe ST P eaiH B 8 I AT WA A § | TE oA
yfr Fo @ ad ® | fem A & @ atftremrft 3 S wme ferm 3
9% g Yerifea el s s Frefafaa afer § 4R

T T TeifeRd MG
(fest =) (&)
127 20
59 12
87 21
21 4
60 - 15
121 31
15 3
18 5
27 | 3
75 17

)  THHK % YR W, AW a1 (TrErR) W& keme atea i fuiia
whifa |

G) it gfeme aiea @i @ F1 gfafifea st g ?

Gi) 3TEE SAHS F YR W, TH A 100 fHAl 6 B HW W T
foran forcfr TR 3TTaEHA! W1 Yedish L Tl 8 ?
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Entrepreneurs who want to start new businesses in a city can seek
ﬁnancial support from its City Investment Promotion Board (CIPB). The
officers in CIPB evaluate applications for financial support and give
their recommendations. This evaluation process takes some time. The
time spent by the ten officers in CIPB and the number of applications
they evaluated are given in the following table :

Time spent | Applications evaluated
(in days) - (Number)
127 20
59 12
87 21
21 4
60 15
121 31
15 3
18 5
27 3
75 17

1) Based on the information, determine the least squared linear
regression model.

(i)  What does the slope of the linear regression model represent ?

(iii) Based on the above data, what is the approximate predicted
number of applications for financial support that an officer can
evaluate with 100 days of work ?

(b) () TH IARE H AT AT HA F U Ty aRadaehia v g
e aefest (adm) A gEft sae | <X 7w o aERE ¥ swE
I FUSATST |
URC-B-MGMT 8
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Gi) W Hipaerd fafere 3% F & fiu wnfees & fesa o9 & @lig
3 | feestl 6 arfifes @ud 1,350 @ Td 9 fesa ) @va T 338 1 T
R & sy wlied h sgaTiva @ma Ifd oTew T 11 3 T @ hl A
fesa Y @ A1 22% R |
o Wl F Py TR W W@ % fau w an # fore fest o1 emew

(aAT&R) a =nfe ? (Feheam qut & i)
o fm g w1 IR fen T R, SER weita fF Feasl # 3gE
i |
o IR YEIE FIA 25 % ok # & fe S=an 7, @ ®OFEEA R
50 1T 75 @iie =Ry ?
@ List down Variable and Attribute control charts used to monitor
quality of a product. Explain the use of “ X ” and “p” charts. 5

(i) Morton Confectioners buy plastic boxes in bulk and use them to
pack biscuits. Annual requirement for the boxes is 1,350 and each
box costs T 33. Ordering cost is estimated to be ¥ 11 per order
and carrying cost is 22% of the cost of the box.

e How many boxes should be ordered at a time so as to

minimise the expenses ? (Take nearest whole number) 8
° Mention three assumptions that are associated with' the

formula used. 2
e If the supplier sells the boxes only in lots of 25, should the

company buy 50 or 75 ? 5

() AThel G9 (I9W) H He TAUTHS A(HST T9A Hised el Al & ?
TeUTeTs Afhel Ed Yoy Ygh (RS Almawm.) # @ifeed wd &
(Freg) = § 2 ufis Sl 1 B 2 e (Fh) Fft = 2 2 T Foht
FT 2 791 T8 291 & I TR &l THART |
When is a database known as a relational database model ?
What are tables and fields in a Relational Database Management
System (RDBMS) ? What is a primary key ? What is a unique key ?
What is a foreign key ? What is a join ? Explain each type of
join. 2+3+2+2+2+2+2=15

Q4. (a) SUHH e FEwm (Gemd) w2 2 fomdt. ughi w wgfaw
aRFET-ETER ST (Hediuet Aideaer Ufterh) # FaT-aEl AR € 2 @l
Htn feem (ward. 1) @ fatmin gaes feiee (esmd. 1)
FIT-HT AW B ?
What is Enterprise Resource Planning (ERP) ? What are the differences
between an ERP system and multiple software applications ? What are
the differences between Material Requirements Planning (MRP I) and
Manufacturing Resource Planning (MRP II) ? 5+10+5=20

URC-B-MGMT 9




(b) T Tufercarers & Wfage (Fearsht) wmaren o ie dnfame (Yeiaiine)
7 | et fordiy whieror 3 fore weivremen @ @ e o @ Ao @ & I
q el ok * d@io S R | few 7R % dRm e w1 g
ffaRaa o 2ar @, s = & € wroft § €

Wfagrt (Yenerifone) T i ot il 5
fopu 7T qhierott S @en 850 | 1000 | 750 | 900 | 1050
giafea (Rade) feet < den 12 15 11 17 10

|

fafercarera & fagwes T =mea ® 6 @ aie Anfasnfaat = @R e Qe
wligrort & 3ot 1 U e #

39T TR RY YT F TH Sehfouesh UREHCITST I SaTSu | GReReTT i
T 5% HE™ &R W HINT wd gions 1 9o Hif |

qfetent
x2 (FT3-FFR) oo - 42 & fRfva oo
g H &R
aaan 6
e 5% 1% 0-1%
1 3-841 6635 10-828
g 5991 9-210 13-816
3 7-815 11-345 16-266
4 9-488 13-277 18-467
5 11-070 15-086 20-515
6 12-592 16812 292458
g 14067 18-475 24-322
8 15-507 20-090 26-124
9 16-919 21-666 27-877
10 18307 23-209 29-588

URC-B-MGMT 10




The pathology laboratory of a hospital has five pathologists. Samples
arriving at the laboratory for a particular test are randomly assigned to
one of them. An evaluation of the performance during the previous
month gave the following counts shown in the table below :

Pathologist A B C D - E
Number of tests done 850 1000 750 900 1050
Number of reported errors 12 15 11 17 10

The director of the hospital wanted to know whether the proportion of
errors in the pathological tests assigned to the five pathologists differ.

State appropriate null and alternate hypotheses for the question above.
Carry out the test of hypothesis at 5% level of significance and describe

the result. 15
Table
x2 (Chi-Squared) Distribution : Critical Values of %2
Significance level

Df‘;ireflisnff 5% 1% 0-1%
1 3-841 6-635 10-828
2 5-991 9-:210 13-816
3 7-815 11-345 16-266
4 9-488 13-277 18-467
5 11-070 15-086 20-515
6 12-592 16-812 22-458
7 14-067 18-475 24-322
8 15-507 20-090 26-124
9 16-919 21-666 27-877
10 18-307 23-:209 29-588

URC-B-MGMT 11




(© =& 7 aifere & are o @ gl 1,20 38 A T&% A IR U, §ff T
# 7% M (afEe) H ufd 36 o (T W) TR 3 | I8 T MW §
IUTeY AT (&7 T Tedeh STR <ht A1 1 oft vefdia et 7 |

®
(i)

(iii)

Pl 5 I st il (W)
g™ 1 23 21 27 14
w2 26 25 15 12
MeH 3 f 2(; 21 _ 21 is

o 11 14 14

YR Gya gutyE Aied 9 iR fafy @ Ferfau |
rfires @mTd <hY ToMET hifse |

IR (3EAH) ARG q9T eIk TMeM ¥ Tesh SR d o el
! 1 HIFT | A

The table given below gives the cost per unit (in ¥) for transporting
goods from each of three depots 1, 2 and 3 to markets A, B and C. It also
depicts stock available at each depot and demand at each market.

)
(i1)

(iii)

URC-B-MGMT

Market | Market | Market | o i
A B 9
Depot1 | 23 21 27 14
Depot 2 ' 26 25 15 12
Depot 3 20 2 2i 13
Demand 11 14 14
Get initial feasible solution using North West Corner method. 4
Calculate initial cost. 2

Find out optimum cost and allocations from each depot to each
market. 9

12




Q5. (a)
(b)
(©
(d)
(e)
Q6. (a)

@us B
SECTION B

“wrfifte 3T’ @ o9 o TEE ¥ 2 WA SevE % orgmn % faftm qwl
! B HIfT |

What do you understand by “Strategic Intent” ? Explain the various
elements in the hierarchy of Strategic Intent.

Afves fouvm wrifel 8 w98 g2 wiiter € 2 Afvas fagom wrifeEt A
BT & HRUN ! WY hiT |

What are the issues involved in Global Marketing Strategies ? Explain
the reasons of failure of Global Marketing Strategies.

“epifers-19 T HEMM w1 @Y ST W Sfeper TWE UST ® |17 39 HUT |
oot hifSte |

A FHR gRI WRA § Y U9 Weq STl sl FEThed A &g AT T¢
Hiforra Iurt i @ hifsg |

“Small scale industries have been adversely affected by the COVID-19
pandemic.” Comment on the statement.

Discuss the policy measures adopted by the Government of India to
rejuvenate small and medium industries in India.

wHifd & FEFEE % a9 aRedd yeaua § afdifia geg gel i faa=
hife |

Discuss the major issues involved in managing change at the time of
strategy implementation.

i HIfT o fohe TR T Foa e FE feEl sl e w Afvew
R # 3 Aferes wavelt & & wfoeugh e | TgrEdr s Hebel R |

Describe how an efficient logistic function can help an international
business compete more effectively in the global marketplace.

e Jery gfsean # yafawfa Sita (S6FT) % 9aw # e i |

3 "ewhi Fi foadmm Hifve i w wiawis st (S6FHn) % fau e =@
s AR 7 | A qEE & R T Bg U s $.4.30d. R
HifS |

Explain the importance of Environmental Scanning in the process of
Strategic Management.

Discuss the factors that need to be considered for Environmental
Scanning. Prepare a comprehensive ETOP for any organisation of your

10

10

10

10

10

choice. 5+5+10=20

URC-B-MGMT 13




Q7.

(b)

(o)

(a)

(b)

(c)

sl gz Mfaw wd fsh g1 @@ (TeedsR) ® wE FRm | e TR
% foesht g1 gomal (Tredied) w1 guia Aife | fadsht gar it @ Ha
I L Ghd 8 ?

Explain foreign exchange risk and foreign exchange exposure. Describe
the various types of foreign exchange exposures. How can foreign

exchange risks be managed ? 3+6+6=15
() 37 ael dh foeem A A 2w & e Sfem & osa wm @
Tl 2 |

Gi) WRAR Y (IW) TR & Tk ST o s geietor amsita i g/
49 % yq@ Fmfiy eifiemem & gei @t T i |

@d) Discuss the ways in which State can participate in the economic
life of a country.

(ii) Explain the major Corporate Governance issues addressed in
Clause 49 of the Listing Agreement between a company and
Indian stock exchanges. 6+9=15

3T R B THET ok B T h Ry SR At I R =
Il B T HE ¥ A9 TS WA 1 o HIRg | =R g8 7
Aqe e fafim Hifara semt H d@fdre faas Hike |

Explain the objectives around which India’s Foreign Trade Policy has
been framed. Describe the strategies adopted to attain these objectives.
Discuss briefly the various policy measures adopted for Trade
Promotion. 4+6+10=20

g It % I faveiwwr % “oie e wimm (Atsw)” @1 avia AT |
30 ol # gEgRe SEd SO @ B gas & foe 3 wieat wew
Teh-gEY ! SwTferd ! B |

Describe Michael Porter’s “Five Forces Model” of Industry Analysis.

Explain the way in which these forces interact with each other to
unravel the industry structure. 15

Iavihedt ht RepEal % gur 39 Tae Suse ager Afufm § Iueey
g (wefeh) w1 avia hife | 38 99 F1 HRYUTE F SATEETHS e
Hifr |

Describe the machinery available for redressal of the grievances of the
consumers under the latest Consumer Protection Act. Critically evaluate

the functioning of this machinery. : 15

URC-B-MGMT 14




Q8. (a) “Tafaefiontor =ream it gftaryr & yafeq sftgds e =@ & 17 3@ S99 W
feoqoft HT | wRedtT HaE g s S ot ffadie wHfE
YR g 39k SRV hl TT HIT |

“Diversification involves a substantial change in business definition.”
Comment on the statement. Explain the type of diversification strategies

adopted by the Indian corporates and the reasons thereof. 15

() vy facef faw @ fosft ddwifert faw % i sfat we A | wra
YR g YATE T3 S fageft fFaw 1 emefia &+ i disgr fifert =
FATATSHTeH gdgrr IR |

Distinguish between Foreign Direct Investment and Foreign Portfolio
Investment. Critically examine the existing policies adopted by the
Government of India for attracting Foreign Direct Investment. 20

(c) TITSRY TRV & HEY W WHR Ud qaq i FrdehEl 6t far @ =men
HIT | 39 d99 7 1 s g I3 T HeHi % GROMHT H ATAEATTH
e I | _

Explain in detail the responsibilities of Business as well as Government

with regard to environment protection. Critically evaluate the outcome
of the steps taken by both of the parties in this regard. 15

URC-B-MGMT 15







